
-4951 -4961

Single Axis Robots RSB2 - Belt Type - 

Controller SpecificationsW P.497~506

Part 
Number

-
Motor Mounting

Position -
Controller

Type
-

I/O
Type

- Noise Filter -
Cable 

Length
- Stroke

RSB2 - L - C21A - N - F1 - 5 - 2550

Controller

Actuator

ESee notes on CE Marking.DP.456

Dedicated Website: http://www.misumiusa.com/robot/
Useful Selection Software and Instruction Manuals can be downloaded.

Power Cable

Instruction Manual CD-ROMSignal Cable

CE
Compliant

Q Components: Actuator, Controller, Cable, (Battery), (Noise Filter)
Q Accessories

AAccessories

Controller I/O Specifications

NPN, PNP CC-Link DeviceNet
- CC-Link Connector DeviceNet Connector

Instruction Manual (CD-ROM), Power Connector, Dummy Connector

Components Guide Rail Slider Cover

MMaterial Steel Aluminum Aluminum
SSurface Treatment - Anodize Anodize

Q Robot Material / Surface Treatment

FAQWP.504

Q Motor Mounting Direction       Select motor mounting direction from the following six types:

Motor left horizontal mounting Motor right horizontal mounting Motor left top mounting Motor right top mounting Motor left bottom mounting Motor right bottom mounting L Mounting RD MountingLD MountingRU MountingLU MountingR Mounting

Drive Motor
Position 

Detection
Operating Ambient 

Temperature, Humidity

Belt AC Servo
100W Resolver 0~40°C/35~85%RH

(No Condensation)

Q For General Use

Type
Belt 
(mm)

Repeatability
Max Load Capacity (kg)

(Horizontal only)
Stroke
(mm)

Rated Running Life 
(Note)

Controller
Input Power Supply

Maximum 
Positioning Point

RSB2
Lead 25 

Equivalent ±0.04 20 150~3050
(100 Pitch) 10,000km

AC100V~115V
AC200~230V

±10%
255 points

Q Standard Specifications

(Note) Reference running life value with the max. overhang load on the guides.

Part Number Selection

Type Motor Mounting Position Controller (E1) I/O Module W/ or w/o Nose Filter (E2) Cable Stroke (mm)

RSB2

Motor left horizontal: L
Motor right horizontal: R

Motor left top: LU

Motor right top: RU

Motor left bottom: LD

Motor right bottom: RD

Specifications

Power Supply

Absolute Encoders
(w/ Data Storage 

Battery)

Incremental Type
Specifications

AC100V~ C21A C21B

AC200~230V C22A C22B

NPN: N
PNP: P

CC-LINK: C
DeviceNet: D

None: F0
Included: F1

SpecificationsDP.508

Standard Flexible
3.5m: 3 3.5m: R3

    5m: 5     5m: R5
10m: 10 10m: R10

150~3050
(100mm Increment)

(E1) Controllers are shipped with preset parameters for each type. Data storage batteries are outside the scope of RoHS Directive.  (E2) A noise filter is required for this product. When the customer 
is purchasing the noise filter separately, please select "none". Be sure to install a surge absorber on the primary side of a noise filter. For details, please see the Instruction Manual.

(Robot Body Price) + (Controller Price) + (Cable Price) + (Noise Filter) = Total Price
<Ex.> For RSB2-L-C21A-N-F1-5-2550,

Part 
Number

Unit Price 1 ~ 5 pc(s).

Stroke (mm)

RSB2

150 200/250 300/350 400/450 500/550 600/650 700/750 800/850 900/950 1000/1050

1100/1150 1200/1250 1300/1350 1400/1450 1500/1550 1600/1650 1700/1750 1800/1850 1900/1950 2000/2050

2100/2150 2200/2250 2300/2350 2400/2450 2500/2550 2600/2650 2700/2750 2800/2850 2900/2950 3000/3050

QRobot Body Price

Type
I/O

Unit Price 1 ~ 5 pc(s).

C21A/C22A
Absolute Encoders

(w/ Data Storage Battery)

C21B/C22B
Incremental 

Type

N
P
C
D

QController Price

Cable 
(Standard)

Unit Price 
1 ~ 5 pc(s).

Cable 
(Flexible)

Unit Price 
1 ~ 5 pc(s).

3 R3

5 R5

10 R10

QCable Price

W/ or w/o Nose Filter Unit Price 1 ~ 5 pc(s).

None:F0

Included:F1

QNoise Filter Price

Power interruption circuit is not provided in this controller in order 
to provide maximum flexibility for customer specific safety scheme. 
An external main power shutoff circuit to form an emergency stop 
circuit must be provided. For Circuit examples, see DP.503

Note

A

B

C
A

B

C

MY

MR

MP

QAllowable Overhang Load

 Horizontal Use  Wall Mounted Use

A B C

5kg 2159 1228 943
10kg 1389 623 548
20kg 1102 320 348

A B C

5kg 1064 816 1468
10kg 564 377 888
20kg 305 156 615

QAllowable Static Moment

 Moment Diagram

MY MP MR

226 227 199

E Please confirm the details of the Max. Speeds based on various strokes with MISUMI Web Simulator.

Part Number
Stroke (mm)

150~350 450~3050

RSB2 ~1750 1875

QMax. Velocity (mm/sec)
mm mm

N m

240 (Note 1)

297.5±3 Stroke (128)

70.5 (Note 1)
90
70

167

32

2-Ø6H7 Depth 10

8-M6x1.0 Depth 16

78 90
.5

90
11

83 92
175

L+87.5

50 20

12
.54-M5x0.8 Depth 12

(Same position on the opposite side 2 places)

146
 134(Tolerance between Dowels ±0.02)

(M6, Ø6H7 Position)

94 34
.5

22
.5 136G

Detail of G

1.5
3.5

1.5

8.
3

5.
5

5.5
18.5

(Ø
10

H7
)

10
0

ABx20010060172.5

85 C D E

200

F-Ø10H7: See Cross Section J-J View.

M-M6x1.0 Depth 10

Cross Section J-J
Arrow View H

Ground Terminal H

16
7

17
8

83 92

175

11

152.5 (Note 1)
90
70

32

210±3

781.5

50 20

12
.5

4-M5x0.8 Depth 12
(Same position on the opposite side 2 places)

2-Ø6H7 Depth 10

8-M6x1.0 Depth 16

83 92

(5
)

16
7

89
78

781.5

50 20

12
.5

4-M5x0.8 Depth 12
(Same position on the 
opposite side 2 places)

152.5 (Note 1)

210±3

70

32

90
152.5 (Note 1)

210±3

90
70
32Ground Terminal

17
8

16
7

11 92 83

175

50 20

12
.5

4-M5x0.8 Depth 12
(Same position on the opposite side 2 places)

Motor right horizontal mounting

Motor right top mounting Motor right bottom mounting Motor left top mounting

8-M6x1.0 Depth 16

2-Ø6H7 Depth 10

8-M6x1.0 Depth 16

2-Ø6H7 Depth 10

Home

Motor

J

J

(Note 1) Mechanical stopper position from the ends.

<Price Example>
(Actuator) + (Controller) + (Cable) + (Noise Filter) + (Grease Type Alteration) + (Change of Home Position)

EFor optional items, see P.507  EIt is more economical to order the optional items as alterations than purchasing them individually.
EEntering point data requires the handy terminal or the support software.  EAn I/O Cable is required for Parallel Communication I/O Control.
EFor details on daisy-chain, see DP.505

Alterations Grease Type Alteration

Handset Terminal
Standard Specification

Handset Terminal
w/ Deadman's Switch

Support Software
w/ USB Communication Cable

Communication Specifications: RS232C

Support Software
w/ D-Sub Communication Cable

Communication Specifications: RS232C

I/O Cable Cable for daisy-chain 
connection

Length: 300mm

Instruction Manual

MJ5: Body
KJ3: Controller  

(C21/C22)

Code G E H D S R T C MJ5/KJ3

Spec.

Grease is changed 
to low particle 
generation grease.
(NSK LG2)

The home position 
is relocated to the 
opposite side of the 
motor.

Handset Terminal is included.
SpecificationsDP.503, 507

Handset Terminal w/ 
Deadman's Switch is included.
SpecificationsDP.503, 507

Support Software w / 
USB Communication 
Cable is included.
SpecificationsDP.503, 507

Support Software w/ D-Sub 
Communication Cable is 
included.
SpecificationsDP.507

I/O Cable is included. 
Required for NPN/PNP 
configurations.
SpecificationsDP.507

A cable to connect multiple 
controllers. It can connect 
maximum 16 controllers.
SpecificationsDP.507

Operation Manual is included.
For Actuator
MJ5:
For Controller
KJ3:

Change of Home Position
Motor

Part 
Number

-
Motor Mounting

Position
-

Controller
Type

-
I/O

Type
- Noise Filter -

Cable
Length

- Stroke

RSB2 - L - C21A - N - F1 - 5 - 2550

onnection

Length: 300mm

TYPE
Dimensions 

/ Mass
Stroke (mm)

150 200 250 300 350 400 450 500 550 600 650 700 750 800 850 900 950 1000 1050 1100 1150 1200 1250 1300 1350 1400 1450 1500 1550 1600

RSB2

L (mm) 488 538 588 638 688 738 788 838 888 938 988 1038 1088 1138 1188 1238 1288 1338 1388 1438 1488 1538 1588 1638 1688 1738 1788 1838 1888 1938
M (mm) 6 8 10 12 14 16 18 20 22
A (mm) - 50 100 150 200 50 100 150 200 50 100 150 200 50 100 150 200 50 100 150 200 50 100 150 200 50 100 150 200 50
B (mm) 1 2 3 4 5 6 7 8
C (mm) 240 420 600 780 960 1140
D (mm) - 240 420 600
E (mm) - - - - - - - - - - - - - - - - - - - - - - - - - - - - - -
F (mm) 2 3

Mass (kg) 9.6 10.2 10.8 11.4 12 12.5 13.1 13.7 14.3 14.9 15.5 16 16.6 17.2 17.8 18.4 19 19.5 20.2 20.7 21.3 21.9 22.5 23.1 23.7 24.2 24.8 25.4 26 26.6
1650 1700 1750 1800 1850 1900 1950 2000 2050 2100 2150 2200 2250 2300 2350 2400 2450 2500 2550 2600 2650 2700 2750 2800 2850 2900 2950 3000 3050

L (mm) 1988 2038 2088 2138 2188 2238 2288 2338 2388 2438 2488 2538 2588 2638 2688 2738 2788 2838 2888 2938 2988 3038 3088 3138 3188 3238 3288 3338 3388
M (mm) 22 24 26 28 30 32 34 36
A (mm) 100 150 200 50 100 150 200 50 100 150 200 50 100 150 200 50 100 150 200 50 100 150 200 50 100 150 200 50 100
B (mm) 8 9 10 11 12 13 14 15
C (mm) 1140
D (mm) 600 780 960 1140
E (mm) - 240 420 600 780
F (mm) 3 4

Mass (kg) 27.2 27.7 28.3 28.9 29.5 30.1 30.7 31.3 31.9 32.4 33 33.6 34.2 34.8 35.4 35.9 36.5 37.1 37.7 38.3 38.9 39.4 40 40.6 41.2 41.8 42.4 43 43.6

Q Dimensions / Mass

Configure Online

Configure Online



<<
  /ASCII85EncodePages false
  /AllowTransparency false
  /AutoPositionEPSFiles true
  /AutoRotatePages /All
  /Binding /Left
  /CalGrayProfile (Dot Gain 20%)
  /CalRGBProfile (sRGB IEC61966-2.1)
  /CalCMYKProfile (Japan Color 2001 Coated)
  /sRGBProfile (sRGB IEC61966-2.1)
  /CannotEmbedFontPolicy /Warning
  /CompatibilityLevel 1.4
  /CompressObjects /Tags
  /CompressPages true
  /ConvertImagesToIndexed true
  /PassThroughJPEGImages true
  /CreateJobTicket false
  /DefaultRenderingIntent /Default
  /DetectBlends true
  /DetectCurves 0.0000
  /ColorConversionStrategy /LeaveColorUnchanged
  /DoThumbnails false
  /EmbedAllFonts true
  /EmbedOpenType false
  /ParseICCProfilesInComments true
  /EmbedJobOptions true
  /DSCReportingLevel 0
  /EmitDSCWarnings false
  /EndPage -1
  /ImageMemory 1048576
  /LockDistillerParams false
  /MaxSubsetPct 100
  /Optimize true
  /OPM 1
  /ParseDSCComments true
  /ParseDSCCommentsForDocInfo true
  /PreserveCopyPage true
  /PreserveDICMYKValues true
  /PreserveEPSInfo true
  /PreserveFlatness false
  /PreserveHalftoneInfo false
  /PreserveOPIComments false
  /PreserveOverprintSettings true
  /StartPage 1
  /SubsetFonts true
  /TransferFunctionInfo /Apply
  /UCRandBGInfo /Preserve
  /UsePrologue false
  /ColorSettingsFile ()
  /AlwaysEmbed [ true
  ]
  /NeverEmbed [ true
  ]
  /AntiAliasColorImages false
  /CropColorImages false
  /ColorImageMinResolution 300
  /ColorImageMinResolutionPolicy /OK
  /DownsampleColorImages true
  /ColorImageDownsampleType /Bicubic
  /ColorImageResolution 300
  /ColorImageDepth -1
  /ColorImageMinDownsampleDepth 1
  /ColorImageDownsampleThreshold 1.00000
  /EncodeColorImages true
  /ColorImageFilter /DCTEncode
  /AutoFilterColorImages false
  /ColorImageAutoFilterStrategy /JPEG
  /ColorACSImageDict <<
    /QFactor 0.15
    /HSamples [1 1 1 1] /VSamples [1 1 1 1]
  >>
  /ColorImageDict <<
    /QFactor 2.40
    /HSamples [2 1 1 2] /VSamples [2 1 1 2]
  >>
  /JPEG2000ColorACSImageDict <<
    /TileWidth 256
    /TileHeight 256
    /Quality 30
  >>
  /JPEG2000ColorImageDict <<
    /TileWidth 256
    /TileHeight 256
    /Quality 30
  >>
  /AntiAliasGrayImages false
  /CropGrayImages false
  /GrayImageMinResolution 300
  /GrayImageMinResolutionPolicy /OK
  /DownsampleGrayImages true
  /GrayImageDownsampleType /Bicubic
  /GrayImageResolution 300
  /GrayImageDepth -1
  /GrayImageMinDownsampleDepth 2
  /GrayImageDownsampleThreshold 1.00000
  /EncodeGrayImages true
  /GrayImageFilter /DCTEncode
  /AutoFilterGrayImages false
  /GrayImageAutoFilterStrategy /JPEG
  /GrayACSImageDict <<
    /QFactor 0.15
    /HSamples [1 1 1 1] /VSamples [1 1 1 1]
  >>
  /GrayImageDict <<
    /QFactor 2.40
    /HSamples [2 1 1 2] /VSamples [2 1 1 2]
  >>
  /JPEG2000GrayACSImageDict <<
    /TileWidth 256
    /TileHeight 256
    /Quality 30
  >>
  /JPEG2000GrayImageDict <<
    /TileWidth 256
    /TileHeight 256
    /Quality 30
  >>
  /AntiAliasMonoImages false
  /CropMonoImages false
  /MonoImageMinResolution 1200
  /MonoImageMinResolutionPolicy /OK
  /DownsampleMonoImages true
  /MonoImageDownsampleType /Bicubic
  /MonoImageResolution 600
  /MonoImageDepth -1
  /MonoImageDownsampleThreshold 1.00000
  /EncodeMonoImages true
  /MonoImageFilter /CCITTFaxEncode
  /MonoImageDict <<
    /K -1
  >>
  /AllowPSXObjects false
  /CheckCompliance [
    /None
  ]
  /PDFX1aCheck false
  /PDFX3Check false
  /PDFXCompliantPDFOnly false
  /PDFXNoTrimBoxError true
  /PDFXTrimBoxToMediaBoxOffset [
    0.00000
    0.00000
    0.00000
    0.00000
  ]
  /PDFXSetBleedBoxToMediaBox true
  /PDFXBleedBoxToTrimBoxOffset [
    0.00000
    0.00000
    0.00000
    0.00000
  ]
  /PDFXOutputIntentProfile ()
  /PDFXOutputConditionIdentifier ()
  /PDFXOutputCondition ()
  /PDFXRegistryName ()
  /PDFXTrapped /False

  /CreateJDFFile false
  /Description <<

  >>
  /Namespace [
    (Adobe)
    (Common)
    (1.0)
  ]
  /OtherNamespaces [
    <<
      /AsReaderSpreads true
      /CropImagesToFrames true
      /ErrorControl /WarnAndContinue
      /FlattenerIgnoreSpreadOverrides false
      /IncludeGuidesGrids false
      /IncludeNonPrinting false
      /IncludeSlug false
      /Namespace [
        (Adobe)
        (InDesign)
        (4.0)
      ]
      /OmitPlacedBitmaps false
      /OmitPlacedEPS false
      /OmitPlacedPDF false
      /SimulateOverprint /Legacy
    >>
    <<
      /AddBleedMarks false
      /AddColorBars false
      /AddCropMarks false
      /AddPageInfo false
      /AddRegMarks false
      /BleedOffset [
        0
        0
        0
        0
      ]
      /ConvertColors /NoConversion
      /DestinationProfileName ()
      /DestinationProfileSelector /NA
      /Downsample16BitImages true
      /FlattenerPreset <<
        /PresetSelector /MediumResolution
      >>
      /FormElements false
      /GenerateStructure false
      /IncludeBookmarks false
      /IncludeHyperlinks false
      /IncludeInteractive false
      /IncludeLayers false
      /IncludeProfiles true
      /MarksOffset 0
      /MarksWeight 0.283460
      /MultimediaHandling /UseObjectSettings
      /Namespace [
        (Adobe)
        (CreativeSuite)
        (2.0)
      ]
      /PDFXOutputIntentProfileSelector /NA
      /PageMarksFile /JapaneseWithCircle
      /PreserveEditing true
      /UntaggedCMYKHandling /LeaveUntagged
      /UntaggedRGBHandling /LeaveUntagged
      /UseDocumentBleed false
    >>
    <<
      /AllowImageBreaks true
      /AllowTableBreaks true
      /ExpandPage false
      /HonorBaseURL true
      /HonorRolloverEffect false
      /IgnoreHTMLPageBreaks false
      /IncludeHeaderFooter false
      /MarginOffset [
        0
        0
        0
        0
      ]
      /MetadataAuthor ()
      /MetadataKeywords ()
      /MetadataSubject ()
      /MetadataTitle ()
      /MetricPageSize [
        0
        0
      ]
      /MetricUnit /inch
      /MobileCompatible 0
      /Namespace [
        (Adobe)
        (GoLive)
        (8.0)
      ]
      /OpenZoomToHTMLFontSize false
      /PageOrientation /Portrait
      /RemoveBackground false
      /ShrinkContent true
      /TreatColorsAs /MainMonitorColors
      /UseEmbeddedProfiles false
      /UseHTMLTitleAsMetadata true
    >>
  ]
>> setdistillerparams
<<
  /HWResolution [2400 2400]
  /PageSize [612.000 792.000]
>> setpagedevice


